
⊂↑≈∝± ⊂↔≡♥±≡↔∂…⌠ °±←↔±↔∂±°← ∉≥×∂≈←⌠ ⊄♠≈°↑ ⇑〉 √°±≡←…♠⌠ ⇔±∂≡≥ ⊂…•≥≥⌠ ±≈ ⊇♦≡ ⊕≈♠±

⊂∂≡″≡±← ⇒¬ ⌠ ⊃∂≡±±⌠ ⇒♠←↔↑∂ ⌠ ±″≡〉←♠↑±″≡⇓←∂≡″≡±←〉…°″

⊂°≠↔♦↑≡ ⇒↑…•∂↔≡…↔♠↑≡ ⊆≡←≡↑…• ¬↑°♠↓ ⌠ ⊇±∂♥≡↑←∂↔ƒ °≠ ⊃∂≡±±⌠ ⊃∂≡±±⌠ ⇒♠←↔↑∂ ⌠ ±″≡〉←♠↑±″≡⇓♠±∂♥∂≡〉…〉↔

⊂ƒ←↔≡″ →♠≥∂↔ƒ ↔↔↑∂♠↔≡← ∈⇒← ↑≡ °≠↔≡± …°±←∂≈≡↑≡≈ ← ↔•≡
″°←↔ ∂″↓°↑↔±↔ ≈≡…∂←∂°± ≈↑∂♥≡↑←〉 √± ↔•∂← ↓↓≡↑⌠ ″°↔∂♥↔≡≈ ƒ
↔•≡ ≈≡…∂←∂°± ″×∂±÷ ∂±  ←″↑↔∫…∂↔ƒ ←°≠↔♦↑≡ ≡…°←ƒ←↔≡″⌠ ♦≡
≡♣↔≡±≈ °♠↑ ↓↑≡♥∂°♠← ↓↓↑°…• ↔•↔ ∂±↔≡÷↑↔≡← ↑≡♠←≥≡ ↑…•∂∫
↔≡…↔♠↑≥ ≈≡←∂÷± ≈≡…∂←∂°±← ⇒⇔⇔← ♦∂↔• ↔•≡ ∈⇒←⌠ ƒ ∂±↔≡÷↑↔∫
∂±÷ ↔…↔∂…← ↔•↔ ←♠↓↓°↑↔ →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ″×∂±÷〉 √±
≈≈∂↔∂°±⌠ ♦≡ ↓↑≡←≡±↔ ± ↓↓↑°…• ↔•↔ ≡±≥≡← ←ƒ←↔≡″ ≡♥°≥♠∫
↔∂°±⌠ ←≡≈ °± …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡ ≈≡…∂←∂°± ″×∂±÷ ±≈
♠↔∂≥∂∞∂±÷ ↑≡≥ ≈↔ °↔∂±≡≈ ≈♠↑∂±÷ ←ƒ←↔≡″ ″°±∂↔°↑∂±÷〉 ⊄•≡
↓↓↑°…• ∂±↔≡÷↑↔≡← ↔•≡ ↓↑≡♥∂°♠← ↓↓↑°…• ↔•↔ ♠←≡← ↔…↔∂…←
♦∂↔• ↔•≡ ≡♣∂←↔∂±÷ ″°≈≡≥∫≈↑∂♥≡± ≈≡♥≡≥°↓″≡±↔ ↓↑≈∂÷″ ±≈
↔•≡ …°↑↑≡←↓°±≈∂±÷ ↔°°≥←〉

⇒↑…•∂↔≡…↔♠↑≥ ≈≡←∂÷± ≈≡…∂←∂°±← ⇒⇔⇔← ↑≡ °≠↔≡± …°±←∂≈∫
≡↑≡≈ ↔° ≡ ↔•≡ ″°←↔ ∂″↓°↑↔±↔ ↓↑↔ ∂± ≈°…♠″≡±↔∂±÷ ←°≠↔∫
♦↑≡ ↑…•∂↔≡…↔♠↑≡← ⊗ℜ〉 ⇒⇔⇔← ↑≡ ♠←♠≥≥ƒ ≈↑∂♥≡± ƒ ←≡♥∫

…♠↑↑≡±↔ ↔≡…•±∂…≥ ±≈ ♠←∂±≡←← ≡±♥∂↑°±″≡±↔⌠ ±≈ ↔•≡ ↑…•∂∫
↔≡…↔← ≡♣↓≡↑∂≡±…≡← ⊗ℜ〉 ⇑ƒ ↔•≡ ←ƒ←↔≡″ ↑≡→♠∂↑≡″≡±↔← ♦≡ ↑≡≠≡↑
↔° °↔• ≠♠±…↔∂°±≥ ±≈ ±°±∫≠♠±…↔∂°±≥ ↑≡→♠∂↑≡″≡±↔← ⊗ℜ〉 ⊄•≡

ℜ〉

≡♣″↓≥≡⌠ ∂″↓≥≡″≡±↔∂±÷  ←°≥♠↔∂°± ↔•↔ ≡±≥≡← ♠↔•°↑∂←∫

⊄•≡↑≡≠°↑≡⌠ ≡♥≡± ↔•°♠÷• ″±ƒ ⇒⇔⇔← …°±…≡↑± ≠♠±…↔∂°±≥∂↔∂≡←
°≠ ↔•≡ ←ƒ←↔≡″⌠ ↔•≡ ∈⇒← ↑≡ °≠↔≡± …°±←∂≈≡↑≡≈ ← ↔•≡ ″°←↔
∂″↓°↑↔±↔ ≈≡…∂←∂°± ≈↑∂♥≡↑← ⊗⌠ ℜ〉

∨♥≡± ↔•°♠÷• ←≡♥≡↑≥ ↓↓↑°…•≡← ∂± ↔•≡ ≥∂↔≡↑↔♠↑≡⌠ ←♠…• ←
ℜ⌠ ↔•≡ ⇐°←↔

ℜ⌠ ±≈ ↔•≡ ⇒↔↔↑∂♠↔≡ ⇔↑∂♥≡± ⇔≡∫
←∂÷± ⊗ℜ⌠ ∂″ ↔° ←♠↓↓°↑↔ ↑…•∂↔≡…↔♠↑≥ ≈≡←∂÷± ±≈ ≡♥≥♠↔∂°±
≈↑∂♥≡± ƒ →♠≥∂↔ƒ ÷°≥← ±≈ ←…≡±↑∂°←⌠ ↔•≡ ″∝°↑∂↔ƒ °≠ ⇒⇔⇔
″≡↔•°≈← ±≈ ↔°°≥← …°±←∂≈≡↑ °↔•≡↑ ←↓≡…↔←⌠ ←♠…• ← ↑≡≈♠…∂±÷
↑…•∂↔≡…↔♠↑≥ ×±°♦≥≡≈÷≡ ⇒ ♥↓°↑∂∞↔∂°± ⊗ℜ⌠ ↑≡♠←∂≥∂↔ƒ
°≠ ⇒⇔⇔← ⊗ℜ⌠ ±≈ ×±°♦≥≡≈÷≡ ←•↑∂±÷ ≈≡…∂←∂°±← ⊗ℜ〉 ≡↔•°≈←

″×∂±÷ ↓↑°…≡←← ↑≡ ←↔∂≥≥ ″∂←←∂±÷〉 ⇐↑≡↔∂±÷ ←♠…• ″≡↔•°≈← ∂←

♠↔∂°± °≠ ↔•≡ ∈⇒← ↔ ↔•≡ ≡↑≥ƒ ←↔÷≡ °≠ ≈≡♥≡≥°↓″≡±↔ ←♠…• ←

•↔↔↓∑ññ≈♣〉≈°∂〉°↑÷ñ〉ñ〉

↔≡♣↔⌠ ←°″≡ ∈⇒← ±≡≡≈ ↔° ≡ ≡♥≥♠↔≡≈ °♥≡ °↔•≡↑←⌠ ≡↔…〉
√± °♠↑ ↓↑≡♥∂°♠← ♦°↑× ⊗ℜ⌠ ♦≡ ↓↑°↓°←≡≈ ↔° ∂±↔≡÷↑↔≡ ↑≡♠←≥≡

⇒⇔⇔← ♦∂↔• ↔•≡ ∈⇒← ∂± °↑≈≡↑ ↔° ≡±≥≡ →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂∫
←∂°± ←♠↓↓°↑↔ ≠°↑ ↑≡…♠↑↑∂±÷ ≈≡←∂÷± ↓↑°≥≡″←〉 √± ↔•∂← ↓↓≡↑⌠
♦≡ ↓↑°↓°←≡ ↔° ≡♣↔≡±≈ ↔•≡ ↓↑≡♥∂°♠← ♦°↑× ƒ ∂±↔≡÷↑↔∂±÷ ↔…∫
↔∂…← ← ≈≡←∂÷± ≈≡…∂←∂°±← ↔•↔ ∂″↓↑°♥≡ ↔•≡ ∂±≈∂♥∂≈♠≥ ∈⇒←〉 √±
≈≈∂↔∂°±⌠ ♦≡ ↓↑°↓°←≡ ± ↓↓↑°…• ↔•↔ ←♠↓↓°↑↔← ♠↔°″↔≡≈
←ƒ←↔≡″ ≡♥°≥♠↔∂°± ←≡≈ °± …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡ →♠≥∂↔ƒ∫
≈↑∂♥≡± ≈≡…∂←∂°± ″×∂±÷ ↓↑°…≡←←〉 √± ↓↑↔∂…♠≥↑⌠ ↔•≡ ∂″↓…↔←
°≠ ↔•≡ ←≡≥≡…↔≡≈ ≈≡←∂÷± ←°≥♠↔∂°±← °± ↔•≡ ∈⇒← ↑≡ ″≡←♠↑≡≈ ♠←∫
∂±÷ ↑≡≥ ≈↔ °↔∂±≡≈ ≠↑°″ °↔• ≈≡←∂÷±∫↔∂″≡ ±≈ ↑♠±∫↔∂″≡〉
⊄•≡ °↔∂±≡≈ ″≡←♠↑≡← ↑≡ ↔•≡± ≠≡≈ …× ↔° ↔•≡ ≈≡…∂←∂°±
″×∂±÷ ↓↑°…≡←← ∂± °↑≈≡↑ ↔° ≡±≥≡ …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡
→♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°±∫″×∂±÷〉 ⊄•≡ ↓↓↑°…• ∂← ←≡≈ °±
↔•≡ ″°≈≡≥∫≈↑∂♥≡± ≈≡♥≡≥°↓″≡±↔ ↓↑≈∂÷″〉

⊄•∂← ↓↓≡↑ ∂← ←↔↑♠…↔♠↑≡≈ ← ≠°≥≥°♦←〉 √± ⊂≡…↔∂°± ⌠ ♦≡ ≈≡∫
←…↑∂≡ ↔•≡ ″°↔∂♥↔∂°± ≠°↑ °♠↑ ♦°↑×〉 √± ⊂≡…↔∂°± ⌠ ♦≡ ↓↑≡←≡±↔
↔•≡ ≈≡↔∂≥← °≠ °♠↑ ↓↓↑°…• ≠°↑ →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ″×∫
∂±÷ ♠←∂±÷ ↔…↔∂…←〉 √± ⊂≡…↔∂°± ⌠ ♦≡ ↓↑≡←≡±↔ ↔•≡ ≈≡↔∂≥← °≠ °♠↑
↓↓↑°…• ≠°↑ …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡ →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂∫
←∂°± ″×∂±÷〉 √± ⊂≡…↔∂°± ⌠ ± ≡♣″↓≥≡ °≠  ↑≡♠←≥≡ ↑…•∂∫
↔≡…↔♠↑≥ ≈≡…∂←∂°± ″°≈≡≥ ↔•↔ ♠←≡← ↔…↔∂…← ∂← ↓↑≡←≡±↔≡≈ ±≈⌠

↔∂°± 〉

⊄•≡ ↓↓↑°…• ↓↑≡←≡±↔≡≈ ∂± ↔•∂← ↓↓≡↑ ∂← ≈≡↑∂♥≡≈ ≠↑°″ ↔•≡
±≡≡≈← °≠ ± ∂±≈♠←↔↑∂≥ …←≡ ←↔♠≈ƒ °±  ≥↑÷≡∫←…≥≡ ←″↑↔ …∂↔∂≡←
←°≠↔♦↑≡ ≡…°←ƒ←↔≡″〉 ⇒ ←″↑↔ …∂↔ƒ ≡…°←ƒ←↔≡″ ∂←  •♠÷≡ ∂±≠°↑∫
″↔∂°± ←ƒ←↔≡″ …°″↓↑∂←∂±÷ °≠ ←≡♥≡↑≥ ←″≥≥≡↑ …°″″♠±∂…↔∫
∂±÷ …°″↓°±≡±↔←〉 ⊂″↑↔ …∂↔ƒ …°″↓°±≡±↔← ↑≡ ∂±↔≡÷↑↔≡≈ ♠←∫
∂±÷ ←≡↑♥∂…≡∫°↑∂≡±↔≡≈ ↑…•∂↔≡…↔♠↑≡ ↔•↔ ↓↑°♥∂≈≡← ∂±↔≡↑°↓≡↑∂≥∫

← •≡≥↔•…↑≡⌠ ≡≈♠…↔∂°±⌠ ↔↑±←↓°↑↔↔∂°±⌠ ♦↔≡↑ ←♠↓↓≥ƒ ±≡↔∫
♦°↑×←⌠ ♦←↔≡ ″±÷≡″≡±↔⌠ ≡↔…〉 ±≡≡≈ ↔° ≡ ∂±↔≡÷↑↔≡≈ ♦∂↔•
≡…• °↔•≡↑〉 ⇑≡…♠←≡ °≠ ↔•≡ ≥↑÷≡ ≈∂♥≡↑←∂↔ƒ °≠ ″±ƒ ∂±↔≡↑…↔∫
∂±÷ ↓≥ƒ≡↑← ∂±  ←″↑↔ …∂↔ƒ⌠ ″±ƒ ↓↓≥∂…↔∂°±← ↔•↔ ±≡≡≈ ↔°
…°±←∂≈≡↑≡≈ ≈♠↑∂±÷ ≈≡…∂←∂°± ″×∂±÷⌠ ±≈ …•±÷≡← ↔•↔ ″ƒ
↓↓≡↑ ∂± ≥≥ …°±←↔∂↔♠↔∂±÷ …°″↓°±≡±↔←⌠ ♥↑∂°♠← ↑≡…♠↑↑∂±÷ ≈≡∫
←∂÷± ←∂↔♠↔∂°±← ±≡≡≈ ↔° ≡ ≈≈↑≡←←≡≈〉 ⊄•≡↑≡≠°↑≡⌠ ∂±  ←″↑↔
…∂↔ƒ ≡…°←ƒ←↔≡″⌠ ↔•≡ →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ″×∂±÷ ←♠↓↓°↑↔
∂← °≠ …↑♠…∂≥ ∂″↓°↑↔±…≡〉

√± °♠↑ ↓↑≡♥∂°♠← ♦°↑× ⊗ℜ⌠ ♦≡ ↓↑°↓°←≡≈ ± ↓↓↑°…• ±≈ 
…°↑↑≡←↓°±≈∂±÷ ↔°°≥ …≥≥≡≈ ⇐°⇐°⇒⇔♥√⊂∨ ↔•↔ ←♠↓↓°↑↔← ↑…•∂∫
↔≡…↔♠↑≥ ≈≡…∂←∂°± ″×∂±÷ ±≈ ≈°…♠″≡±↔↔∂°± ←≡ °± ↑≡♠←≥≡
⇒⇔⇔←〉 ∪≡ ″°≈≡≥≥≡≈ ⇒⇔⇔← ♠←∂±÷ ↔•≡ ∈♠≡←↔∂°±←⌠ ∠↓↔∂°±←⌠
±≈ ⇐↑∂↔≡↑∂ ↓↓↑°…• ⊗ℜ〉 ⊄•≡ ↑≡←♠≥↔ °≠  ″≈≡ ⇒⇔⇔ ∂←
…↓↔♠↑≡≈ ƒ ↔•≡ ≡←↔≥∂←•≡≈ ⇒⌠ ←♠…• ← ≡♣∂←↔∂±÷ ←°≠↔♦↑≡
↓↔↔≡↑±← ⊗ℜ °↑ °↔•≡↑ ♦≡≥≥∫≈°…♠″≡±↔≡≈ ⇒⌠ ♦•∂…• ∂″↓…↔ °±
↔•≡ ∈⇒← ∂← ≡♥≥♠↔≡≈ ← ↓°←∂↔∂♥≡ °↑ ±≡÷↔∂♥≡〉 √± ↔•∂← ↓∫
↓≡↑⌠ ♦≡ ≡♣↔≡±≈ ↔•≡ ⇐°⇐°⇒⇔♥√⊂∨ ″≡↔∫″°≈≡≥ ♦∂↔• ↔…↔∂…←



↔° ≠♠↑↔•≡↑ ←♠↓↓°↑↔ ←ƒ←↔≡″↔∂… →♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ″×∫
∂±÷〉 ⊄•≡ ∂±↔≡÷↑↔∂°± °≠ ↔…↔∂…← ∂← ↓♠↑←♠≡≈ ƒ ←ƒ←↔≡″↔∂…≥≥ƒ
←↔♠≈ƒ∂±÷ ↔•≡ ≡♣∂←↔∂±÷ ♦°↑× °± ↔•≡ ∂±↔≡↑…↔∂°±← °≠ ↔…↔∂…← ♦∂↔•
°↔•≡↑ ↑≡≥↔≡≈ ↑↔≡≠…↔← ∂〉≡〉 ←°≠↔♦↑≡ ↓↔↔≡↑±←⌠ ∈⇒←⌠ ±≈
°↔•≡↑ ↑≡≥≡♥±↔ ⇒〉 √± ↔•≡ ↔≡♣↔ ≡≥°♦⌠ ♦≡ ↑≡≠≡↑ ↔° ↔•≡ ≡♣∂←↔∫
∂±÷ ↑≡≥↔≡≈ ♦°↑× ±≈ ≡♣↓≥∂± °♠↑ ↓↓↑°…• ∂± ″°↑≡ ≈≡↔∂≥〉

⊗ℜ〉 ∨…• ↔…↔∂… ∂″← ↔ ∂″↓↑°♥∂±÷ °±≡ ∈⇒ ♠↔ ∂↔ …± ≥←°

…°±…≡↑±∂±÷ ↔•≡ ←″≡ ↔•∂±÷ ↑≡ ÷↑°♠↓≡≈ ∂±↔° …↔≡÷°↑∂≡← ♦•∂…•
↑≡ …≥≥≡≈ ≈≡←∂÷± …°±…≡↑±←〉 ∧°↑ ≡♣″↓≥≡⌠ ↔•≡ ÷↑°♠↓ °≠ ↔…∫
↔∂…← ≠°↑ ←≡…♠↑∂↔ƒ ∂±…≥♠≈≡← ↑≡←∂←↔∂±÷ ↔↔…×←⌠ ≈≡↔≡…↔∂±÷ ↔↔…×←⌠
±≈ ↑≡…°♥≡↑∂±÷ ≠↑°″ ↔↔…×←〉 ⊄•≡ ↑≡←∂←↔∂±÷ ↔↔…×← …↔≡÷°↑ƒ
…°±↔∂±← ↔•≡ ≠°≥≥°♦∂±÷ ↔…↔∂…←∑ ♠↔•≡±↔∂…↔≡ ♠←≡↑←⌠ ♠↔•°∫

≥∂″∂↔ ≡♣↓°←♠↑≡⌠ ±≈ ≥∂″∂↔ ……≡←←〉 ⊄…↔∂…← …± ≡ ≈≡←∂÷±∫↔∂″≡
°↑ ↑♠±∫↔∂″≡ ⊗ℜ〉 ⇔≡←∂÷±∫↔∂″≡ ↔…↔∂…← ↑≡↓↑≡←≡±↔ °♥≡↑≥≥ ↓∫
↓↑°…•≡← ≠°↑ ≈≡←∂÷± ±≈ ∂″↓≥≡″≡±↔↔∂°±⌠ ←♠…• ← •∂≈≡ ∂±≠°↑∫

← ↓∂±÷∫≡…•° ≠°↑ ∂″↓↑°♥∂±÷ ↔•≡ ↑≡≥∂∂≥∂↔ƒ〉 √± ↔•∂← ↓↓≡↑⌠ ♦≡
↑≡≠≡↑ ↔° ↑♠±∫↔∂″≡ ↔…↔∂…← ≡…♠←≡ ≈≡←∂÷±∫↔∂″≡ ↔…↔∂…← ″°←↔≥ƒ
…♠↔ …↑°←← ≥≥ ≈≡←∂÷± ↓↑↔∂↔∂°±← ±≈ ↑≡ ∂″↓≥≡″≡±↔≡≈ ∂″∫
↓≥∂…∂↔≥ƒ ∂± ↔•≡ …°≈≡ ⊗ℜ〉 ⊄•≡↑≡≠°↑≡⌠ ↔•≡ƒ ↑≡ ±°↔ ← ←♠∂↔≥≡
≠°↑ ″°≈≡≥≥∂±÷ ↔ ↔•≡ ↑…•∂↔≡…↔♠↑≡ ≥≡♥≡≥ ← ↑♠±∫↔∂″≡ ↔…↔∂…←

≈≡↔∂≥←〉
⊄•≡ ∂″↓…↔ °≠ ↔…↔∂…← °± ↑…•∂↔≡…↔♠↑≥ ↓↔↔≡↑±← •← ≡≡±

←↔♠≈∂≡≈ ƒ ←≡♥≡↑≥ ♠↔•°↑← ←≡≡ ≠°↑ ≡♣″↓≥≡ ⊗⌠ ℜ〉 ⊄•≡ƒ

←°″≡ …←≡←⌠  ↔…↔∂… ∂← …°″↓↔∂≥≡ ♦∂↔•  ↓↔↔≡↑±⌠ ″≡±∂±÷
↔•↔ ∂↔ …± ≡ ≡←∂≥ƒ ∂±↔≡÷↑↔≡≈ ∂± ↔•≡ ↓↔↔≡↑±← ←↔↑♠…↔♠↑≡
±≈ •← …°″↓↔∂≥≡ ≡•♥∂°♠↑〉 √± °↔•≡↑ …←≡←⌠  ↔…↔∂… ″ƒ

•♥∂°♠↑〉 ⋅↑↑∂←°± ±≈ ⇒♥÷≡↑∂°♠ ⊗ℜ •♥≡ ≠°♠±≈ ↔•≡ ≠°≥≥°♦∂±÷

 ↔…↔∂… ∂± ←°″≡ ↓↔↔≡↑±∑

√″↓≥≡″≡±↔≡≈ ∂±∑ ∂″↓≥≡″≡±↔≡≈ ♦∂↔•∂±  ↓↔↔≡↑± …°″∫
↓°±≡±↔ ♦∂↔• ″∂±°↑ …•±÷≡←

⊆≡↓≥∂…↔≡←∑  ↓↔↔≡↑± …°″↓°±≡±↔ ∂← ≈♠↓≥∂…↔≡≈

⇒≈≈⌠ ∂± ↔•≡ ↓↔↔≡↑±∑  ±≡♦ …°″↓°±≡±↔ ↔•↔ ≠°≥≥°♦←
↔•≡ ←↔↑♠…↔♠↑≡ °≠  ↓↔↔≡↑± ∂← ≈≈≡≈

⇒≈≈⌠ °♠↔ °≠ ↔•≡ ↓↔↔≡↑±∑  ±≡♦ …°″↓°±≡±↔ ↔•↔
≈°≡← ±°↔ ≠°≥≥°♦ ↔•≡ ←↔↑♠…↔♠↑≡ °≠  ↓↔↔≡↑± ∂← ≈≈≡≈

°≈∂≠ƒ∑ ↔•≡ ←↔↑♠…↔♠↑≡ °≠ ←≡♥≡↑≥ ↓↔↔≡↑± …°″↓°±≡±↔←
…•±÷≡← ↔°  ≥≡←←≡↑ °↑ ÷↑≡↔≡↑ ≡♣↔≡±↔

⇔≡≥≡↔≡∑  …°″↓°±≡±↔ ∂← ↑≡″°♥≡≈

⇒← ″≡±↔∂°±≡≈ °♥≡⌠ ≡…• ←°≥♠↔∂°± ≠°↑ ± ⇒⇔⇔ ∂± ↔•≡ ⇐°∫
⇐°⇒⇔♥√⊂∨ ↓↓↑°…• ∂″↓≥∂≡← ↔•≡ ↓↓≥∂…↔∂°± °≠ ↔•≡ ↑≡≥↔≡≈
⇒⌠ ″°←↔≥ƒ …↓↔♠↑≡≈ ƒ ←°≠↔♦↑≡ ↓↔↔≡↑±← ♠↔ ≥←° °↔•≡↑

•♥≡ ↓°←∂↔∂♥≡⌠ ±≡÷↔∂♥≡⌠ °↑ ±≡♠↔↑≥ ∂″↓…↔ °± ↔•≡ °←≡↑♥≡≈
∈⇒←〉 ∠≠ …°♠↑←≡⌠ ∂↔ ∂← °≠↔≡± ↔•≡ …←≡ ↔•↔ …•°←≡± ↓↔↔≡↑±←
±≈ °↔•≡↑ ⇒ …±±°↔ ←↔∂←≠ƒ ≥≥ ≈≡←∂↑≡≈ ∈⇒←⌠ ↔•↔ ±≡≡≈ ↔°
≡ ∂″↓↑°♥≡≈ ♠←∂±÷ …°↑↑≡←↓°±≈∂±÷ ↔…↔∂…←〉

⊄° ≠♠↑↔•≡↑ ←♠↓↓°↑↔ →♠≥∂↔ƒ∫≈↑∂♥≡± ⇒⇔⇔←⌠ ♦≡ ↓↑°↓°←≡ ↔°
∂±↔≡÷↑↔≡ ↔…↔∂…← ∂± ↔•≡ ↓↑≡♥∂°♠← ⇐°⇐°⇒⇔♥√⊂∨ ↓↓↑°…•〉 √±
↔•↔ ←≡±←≡⌠ ≠°↑ ≡…• °↔∂±≡≈ ⇒⇔⇔ ←°≥♠↔∂°±⌠ ♦≡ ↓↑°↓°←≡ ↔°
↓↑°♥∂≈≡  ≥∂←↔ °≠ ↔…↔∂…← ↔•↔ ↑≡ ↓↓≥∂…≥≡ ∂± ↔•≡ …°±↔≡♣↔
°≠ ↔•↔ ←°≥♠↔∂°± ±≈ ↔•↔ …± ≡ ♠←≡≈ ↔° ∂″↓↑°♥≡ ↔•≡ °∫
←≡↑♥≡≈ ∈⇒←〉 ⊄•≡ ≡♣↓≥±↔∂°± °≠ ↔•≡ ∂″↓…↔← °≠ ↔•≡ ↓↑°♥∂≈≡≈
↔…↔∂…← °± °←≡↑♥≡≈ ∈⇒← ♦∂≥≥ ≡ ≥←° ↓↑°♥∂≈≡≈ ←≡≡ ± ≡♣″∫
↓≥≡ ≡≥°♦〉 ⇒← ″≡±↔∂°±≡≈ °♥≡⌠ ↔•↔ ∂″↓…↔ …± ≡ ≡∂↔•≡↑
↓°←∂↔∂♥≡⌠ ±≡÷↔∂♥≡⌠ °↑ ±≡♠↔↑≥〉 ∧♠↑↔•≡↑″°↑≡⌠ ≠°↑ ≡…• ≈≈≡≈

↔•≡ …°±↔≡♣↔ °≠ ↔•≡ °↔∂±≡≈ ←°≥♠↔∂°± ≡〉÷〉  ←≡≥≡…↔≡≈ ←°≠↔♦↑≡

∂± ↔•≡ ♦°↑× ƒ ⋅↑↑∂←°± ±≈ ⇒♥÷≡↑∂°♠ ⊗ℜ ←≡≡ °♥≡〉
∧∂÷♠↑≡  ←•°♦←  ±≡♦⌠ ≡♣↔≡±≈≡≈ ⇐°⇐°⇒⇔♥√⊂∨″≡↔∫″°≈≡≥〉
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∧∂÷♠↑≡ ∑ ⇒ ∇≡♦ ⊆≡♠←≥≡ ⇒↑…•∂↔≡…↔♠↑≥ ⇔≡…∂←∂°±
≡↔∫°≈≡≥

⊄° ≡±≥≡ ↔•≡ ∂±↔≡÷↑↔∂°± °≠ ↔…↔∂…← ∂± °♠↑ ↓↑≡♥∂°♠← ↓∫
↓↑°…•⌠ ↔•≡ ∂±↔≡↑…↔∂°±← ≡↔♦≡≡± ↔•≡″ ±≈ ↔•≡ ∈⇒← ← ♦≡≥≥
← ↔•≡ ⇒ ↑≡←♠≥↔≡≈ ≠↑°″ ↔•≡ °↔∂±≡≈ ⇒⇔⇔ ←°≥♠↔∂°±← ″♠←↔
≡ ←ƒ←↔≡″↔∂…≥≥ƒ ←↔♠≈∂≡≈ ∂± °↑≈≡↑ ↔° …↑↔≡  ↑≡♠←≥≡ ″°≈≡≥
∂〉≡〉 ± ∂±←↔±…≡ °≠ ↔•≡ ÷∂♥≡± ″≡↔∫″°≈≡≥ ↔•↔ …± ≡ ♠←≡≈
← ∂±↓♠↔ ↔° ↔•≡ ⇐°⇐°⇒⇔♥√⊂∨ ↔°°≥〉 ⇐↑≡↔∂±÷ ↔•≡ ↑≡♠←≥≡ ∂±∫
↓♠↔ ″°≈≡≥ ∂← ↔•≡ ″°←↔ ≈≡″±≈∂±÷ ↔←× ∂± ″×∂±÷ ⇒⇔⇔← ♦∂↔•
⇐°⇐°⇒⇔♥√⊂∨〉 ⋅°♦≡♥≡↑⌠ ↔•≡ ≡♣∂←↔∂±÷ ↓↓↑°…•≡← ±≈ ↔°°≥←
…± ≠…∂≥∂↔↔≡ ∂↔ ↔°  ≥↑÷≡ ≈≡÷↑≡≡〉 ∧°↑ ≡♣″↓≥≡⌠ ← ″≡±↔∂°±≡≈
°♥≡⌠ ↔•≡ ∂±↔≡↑…↔∂°±← ≡↔♦≡≡± ↑…•∂↔≡…↔♠↑≥ ↓↔↔≡↑±← ±≈
↔…↔∂…← •♥≡ ≥↑≡≈ƒ ≡≡± ←↔♠≈∂≡≈ ∂± ↔•≡ ≥∂↔≡↑↔♠↑≡ ±≈ ↔•≡ƒ
…± ≡ ♠←≡≈ ←  ÷°°≈ ←∂← ≠°↑ …↑≡↔∂±÷ ↔•≡ ″°≈≡≥〉 ⊆≡÷↑≈∫
∂±÷ ↔•≡ ∂±↔≡↑…↔∂°±← ≡↔♦≡≡± ↔…↔∂…←⌠ ∈⇒← ±≈ °↔•≡↑ ⇒⌠
≥∂×≡ ≈≡←∂÷± ↓↔↔≡↑±← ±≈ ↔≡…•±°≥°÷ƒ∫↑≡≥↔≡≈ ⇒⌠ ↔•≡↑≡ ≥←°
≡♣∂←↔ ←°″≡ ♦°↑×〉 ∧°↑ ≡♣″↓≥≡⌠ ←≡♥≡↑≥ ♠↔•°↑← ∂±♥≡←↔∂÷↔≡≈
↔•≡ ↑≡≥↔∂°±←•∂↓← ≡↔♦≡≡± ←°″≡ ≈≡←∂÷± ↓↔↔≡↑±← ±≈ ↔…↔∂…←⌠

⊗⌠ ℜ〉 ⊄≡…•±°≥°÷ƒ∫↑≡≥↔≡≈ ⇒ ←♠…• ← …°±…↑≡↔≡ ↔≡…•±°≥°÷ƒ
←°≥♠↔∂°±← ≡〉÷〉 ≠↑″≡♦°↑×← ↔° ∂″↓≥≡″≡±↔ ↔•≡ ↑…•∂↔≡…↔♠↑≡

ℜ〉 ⊄•≡↑≡≠°↑≡⌠

←♠↓↓°↑↔∂±÷ °↑ ≥∂″∂↔∂±÷ ←°″≡ ∈⇒←〉 ⋅°♦≡♥≡↑⌠ ≡←∂≈≡ ≡♣∂←↔∫

…°±↔≡♣↔⌠ ≡〉÷〉 ↔•≡ …°±↔≡♣↔ °≠  ←″↑↔∫…∂↔ƒ ←°≠↔♦↑≡ ≡…°←ƒ←↔≡″〉
⊄•≡↑≡≠°↑≡⌠ ↔•≡ ↑≡≥↔∂°±←•∂↓← ≡↔♦≡≡± ↔•≡ ″°≈≡≥ ≡≥≡″≡±↔← ∂〉≡〉
↔…↔∂…←⌠ ∈⇒←⌠ ↓↔↔≡↑±←⌠ ≡↔…〉 •♥≡ ↔° ≡ …°±←∂≈≡↑≡≈ ♦∂↔•∂±
↔•↔ …°±↔≡♣↔ ♦•∂…• ″ƒ ↑≡→♠∂↑≡ …≡↑↔∂± …•±÷≡← °↑ ≈↓∫
↔↔∂°±← °≠ ↔•≡ ≡♣∂←↔∂±÷ ♦°↑× ←°≥♠↔∂°±←〉 ∧°↑ ≡♣″↓≥≡⌠ ↔•≡

ℜ〉 ∉≥≡←≡ ±°↔≡ ≥←°

±≥ ↑…•∂↔≡…↔♠↑≡ ∂← ∂″↓°↑↔±↔〉 ∧°↑ ≡♣″↓≥≡⌠ ←°″≡ ↔…↔∂…← …±
↔×≡ ≈♥±↔÷≡ °≠ ←°″≡ ↓↔↔≡↑±← ↔•↔ ↑≡ …°″↓↔∂≥≡ ♦∂↔•
↔•≡″ °↑ ←°″≡ ≥↑≡≈ƒ ″≈≡ …•±÷≡← ≡〉÷〉  ±≡♦ ∂±↔≡÷↑↔≡≈
…°″↓°±≡±↔ ↑≡→♠∂↑≡≈ ↔° ∂±↔≡÷↑↔≡ ←°″≡ ↓↑≡♥∂°♠← ↔…↔∂… ←≡≡
⊗ℜ ≠°↑ ″°↑≡ ≈≡↔∂≥←〉 ⊄° ≠♠↑↔•≡↑ ≠…∂≥∂↔↔≡ ±≈ ……≡≥≡↑↔≡
↔•≡ …↑≡↔∂°± °≠  ↑≡♠←≥≡ ∂±↓♠↔ ″°≈≡≥ ≠°↑ ⇐°⇐°⇒⇔♥√⊂∨⌠ ♦≡
↓↑°↓°←≡≈ ∂± °♠↑ ↓↑≡♥∂°♠← ♦°↑× ± ↓↓↑°…• ↔•↔ ≡±≥≡← …↓∫
↔♠↑∂±÷ ±≈ ↑≡♠←∂±÷ …→♠∂↑≡≈ ×±°♦≥≡≈÷≡ ♠←∂±÷  ←≡↔ °≠ ↔°°≥←
⊗ℜ〉



Architectural
Design Decisions

MDE automatic
transformation tools

(e.g. constraint-based
consistency checking
proposed by Lytra et

al.)

MDE automatic
transformation tools

(e.g. View-based
Modelling Framework
proposed by Huy et

al.)

Tools for run-time
monitoring (e.g.

extensible modelling
framework proposed

by Becker et al.)

Architecture Views

Executable Code

Pattern-Tactic-QA
Repository

Monitoring and
Analysis

Tools for supporting
ADDs (e.g. the

combination of tools
for creative decision
making proposed by

Stevanetic et al.)

∧∂÷♠↑≡ ∑ ⇒≈↓↔≥≡ ±≈ ⇐°±↔↑°≥≥≥≡ ⇔≡…∂←∂°±∫
×∂±÷ ∫ ⇒± ∠♥≡↑♥∂≡♦

√± ↔•∂← ←≡…↔∂°±⌠ ♦≡ ↓↑≡←≡±↔ ± ↓↓↑°…• ↔•↔ ←♠↓↓°↑↔← ♠∫
↔°″↔≡≈ ←ƒ←↔≡″ ≡♥°≥♠↔∂°± ←≡≈ °± …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡
→♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°±∫″×∂±÷ ♠←∂±÷ ↑≡≥ ≈↔ °↔∂±≡≈ ≈♠↑∫
∂±÷ ←ƒ←↔≡″ ″°±∂↔°↑∂±÷〉 ⊄•≡ ↓↓↑°…• ∂← ←≡≈ °± ↔•≡ ∂±↔≡∫
÷↑↔∂°± °≠ ↔•≡ ↓↑≡♥∂°♠←≥ƒ ≡♣↓≥∂±≡≈ ↓↓↑°…• ≠°↑ ≡±≥∂±÷
→♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ″×∂±÷ ♠←∂±÷ ↔…↔∂…← ♦∂↔• ↔•≡ ≡♣∫
∂←↔∂±÷ ″°≈≡≥∫≈↑∂♥≡± ≈≡♥≡≥°↓″≡±↔ ⇔∨ ↓↑≈∂÷″ ±≈ ↔•≡
…°↑↑≡←↓°±≈∂±÷ ↔°°≥←〉 ⊄•≡ ⇔∨ ↓↑≈∂÷″ ≡±≥≡← ←≡″∂∫

↓↓≥∂…↔∂°± ↑↔≡≠…↔← ←↔↑↔∂±÷ ≠↑°″ ↑…•∂↔≡…↔♠↑≥ ≈≡…∂←∂°±←
±≈ ≈≡←∂÷±← ♠±↔∂≥ ←ƒ←↔≡″ ∂″↓≥≡″≡±↔↔∂°±〉 ⇑←≡≈ °± ↔•≡ ≠≡≡≈∫
…× °↔∂±≡≈ ≠↑°″ ″°±∂↔°↑∂±÷ ↔•≡ ≈≡←∂↑≡≈ ∈⇒← °↔• ≈♠↑∂±÷
≈≡←∂÷±∫↔∂″≡ ±≈ ↑♠±∫↔∂″≡⌠ ↑…•∂↔≡…↔← …± ÷≡↔  ↓↑≡…∂←≡ ↓∂…∫
↔♠↑≡ °± •°♦ ↔•≡ …•°←≡± ⇒⇔⇔ ←°≥♠↔∂°±←⌠ ∂〉≡〉 ↓↔↔≡↑±← ±≈
↔…↔∂…←⌠ ∂″↓…↔ ↔•≡ ≈≡←∂↑≡≈ ∈⇒←〉

⊄•≡ ≈≡♥≡≥°↓″≡±↔ ↓↑°…≡←←≡← ♠←♠≥≥ƒ ♠←≡≈ ↔°≈ƒ ↑≡ •∂÷•≥ƒ

…≡←← ⊆⊇∉ ⊗ℜ〉 ∧°≥≥°♦∂±÷ ↔•≡ ≥°÷∂… ∂± ↔•≡←≡ ↓↓↑°…•≡←⌠
°♠↑ ↓↓↑°…• ∂″← ↔ ≡±≥∂±÷ …°±↔∂±♠°♠← ≈↓↔↔∂°±← °≠ ↔•≡
←ƒ←↔≡″ ƒ ≈↓↔∂±÷ ∂↔← ⇒⇔⇔← ♦∂↔• ↑≡÷↑≈ ↔° ↔•≡ °←≡↑♥≡≈
∈⇒←〉

∧∂÷♠↑≡  ←•°♦← ± °♥≡↑♥∂≡♦ °≠ ↔•≡ ↓↓↑°…•〉 ⊄•≡ ∉↔↔≡↑±∫
⊄…↔∂…∫∈⇒ ↑≡↓°←∂↔°↑ƒ ↑≡↓↑≡←≡±↔←  ♦∂×∂≥∂×≡ ↑≡↓°←∂↔°↑ƒ ≠°↑ …°≥∫
≥≡…↔∂±÷ ↑≡≥↔≡≈ ×±°♦≥≡≈÷≡ °♠↔ ↓↔↔≡↑±←⌠ ↔…↔∂…←⌠ ±≈ ∈⇒←
↔°÷≡↔•≡↑ ♦∂↔• ↔•≡∂↑ ↑≡≥↔∂°±←•∂↓←〉 ∪≡ •♥≡ ≥↑≡≈ƒ …↑≡↔≡≈
°±≡ ←♠…• ↑≡↓°←∂↔°↑ƒ ≈≡←…↑∂≡≈ ∂± °♠↑ ↓↑≡♥∂°♠← ♦°↑× ″≡±∫
↔∂°±≡≈ °♥≡ ⊗ℜ〉 ⊄•≡ ↑≡↓°←∂↔°↑ƒ …♠↑↑≡±↔≥ƒ …°±↔∂±← ↑≡…°↑≈←
≠°↑ °♥≡↑  ≈≡←∂÷± ↓↔↔≡↑±←⌠ °♥≡↑  ↔…↔∂…←⌠ ±≈ °♠↔ 
∈⇒←〉 ⊄•≡ ∉↔↔≡↑±∫⊄…↔∂…∫∈⇒ ↑≡↓°←∂↔°↑ƒ ∂← ♠←≡≈ ←  ×±°♦≥∫
≡≈÷≡ ←≡ ≠°↑ …↑≡↔∂±÷  ↑≡♠←≥≡ ∂±↓♠↔ ″°≈≡≥ ≠°↑ ↔•≡ ⇐°∫
⇐°⇒⇔♥√⊂∨ ↔°°≥⌠ ↔•↔ ∂← ↔•≡± ♠←≡≈ ≠°↑ …↓↔♠↑∂±÷ ±≈ ≈°…♠∫
″≡±↔∂±÷ …°±…↑≡↔≡ ⇒⇔⇔ ←°≥♠↔∂°±←〉 ∧°↑ ↔•↔ ↓♠↑↓°←≡⌠ °♠↑ ↓↑≡∫
♥∂°♠←≥ƒ ≡♣↓≥∂±≡≈ ↓↓↑°…• ←≡≡ ⊂≡…↔∂°±  …± ≡ ♠←≡≈⌠ ∂〉≡〉
± ↑…•∂↔≡…↔ …± ♠↔∂≥∂∞≡ ↔•≡ ↓↑°♥∂≈≡≈ ∂″↓…↔← °≠ ↔•≡ ←≡≥≡…↔≡≈
⇒⇔⇔ ←°≥♠↔∂°±← °± ↔•≡ ≈≡←∂↑≡≈ ∈⇒← ← ♦≡≥≥ ← ↔•≡ ∂±≠°↑″∫

↓…↔← °≠ ←≡≥≡…↔≡≈ ↓↔↔≡↑±←∫↔…↔∂…← …°″∂±↔∂°±← °± ↔•≡ ∈⇒←
↑≡ °±≥ƒ …°↑←≡≥ƒ ←←≡←←≡≈ ← ↓°←∂↔∂♥≡⌠ ±≡÷↔∂♥≡ °↑ ±≡♠↔↑≥
← ≡♣↓≥∂±≡≈ ∂± ⊂≡…↔∂°± 〉 ∪•≡± ≥≥ ↑≡→♠∂↑≡≈ ≈≡…∂←∂°±← ↑≡
″≈≡⌠ ″°≈≡≥∫≈↑∂♥≡± ↔≡…•±∂→♠≡← …± ≡ ♠↔∂≥∂∞≡≈ ↔° ↔↑±←≠°↑″
↔•≡ °↔∂±≡≈ ⇒⇔⇔ ←°≥♠↔∂°±← ∂±↔° ↑…•∂↔≡…↔♠↑≥ ♥∂≡♦←⌠ ♠↔°∫
″↔∂…≥≥ƒ ±≈ ∂±  ↑≡♠←≥≡ ♦ƒ ≠°↑ ≡♣″↓≥≡ ♠←∂±÷ ↔•≡ ↓∫
↓↑°…• ƒ ƒ↔↑ ≡↔ ≥〉 ⊗ℜ〉 ∧♠↑↔•≡↑″°↑≡⌠ •∂÷•∫≥≡♥≡≥ ♥∂≡♦←

≡±↑∂…•≡≈ ↔° ÷≡±≡↑↔≡ ≥°♦≡↑ ≥≡♥≡≥ ♥∂≡♦← ←♠…• ← ↔≡…•±°≥°÷ƒ

←♠…• ← ⊃∂≡♦∫←≡≈ °≈≡≥≥∂±÷ ∧↑″≡♦°↑× ⊃∧ ↓↑°↓°←≡≈
ƒ ⊄↑± ≡↔ ≥〉 …± ≡ ♠←≡≈ ⊗ℜ〉 √± ⊃∧⌠ ←≡≈ °± ↔•≡

♠↔°″↔∂…≥≥ƒ ÷≡±≡↑↔≡≈ ≠°↑ ←°″≡ …°″″°± …°±←↔↑♠…↔←〉 ⊄•≡
•±≈∫♦↑∂↔↔≡± …°≈≡ …± ≡ ≈≈≡≈ ↔° ↔•≡ ÷≡±≡↑↔≡≈ …°≈≡ ∂±
°↑≈≡↑ ↔° …°″↓≥≡↔≡ ↔•≡ ∂″↓≥≡″≡±↔↔∂°±〉 ⊄° ≈≡↓≥°ƒ ↔•≡ ÷≡±≡↑∫
↔≡≈ ←°♠↑…≡ …°≈≡⌠ ← ♠←♠≥ ≠°↑ ↔•≡ ←≡↑♥∂…≡∫←≡≈ ↓↓≥∂…↔∂°±←⌠

⇔♠↑∂±÷ ↔•≡ ←ƒ←↔≡″ ≡♣≡…♠↔∂°±⌠ ↔•≡ ≈≡←∂↑≡≈ ∈⇒← …± ≡ ″°±∫
∂↔°↑≡≈〉 ∠≠ …°♠↑←≡⌠ ♦≡ ↑≡≠≡↑ •≡↑≡ ↔° ♥↑∂≥≡ ±≈ ≈ƒ±″∂∫
…≥≥ƒ …•±÷∂±÷ ∈⇒← ↔•↔ ↑≡ •↑≈ ↔° …°″↓♠↔≡ ↔ ≈≡←∂÷±∫↔∂″≡〉

″°±∂↔°↑∂±÷ ≠↑″≡♦°↑×← ≥∂×≡ ↔•≡ °±≡ ↓↑°↓°←≡≈ ƒ ⇑≡…×≡↑ ≡↔
≥〉 ⊗ℜ …± ≡ ♠←≡≈ ≠°↑ ″°±∂↔°↑∂±÷ ≈ƒ±″∂…≥≥ƒ …•±÷∂±÷
∈⇒←〉 √± ↓↑↔∂…♠≥↑⌠ ←≡↑♥∂…≡← …± ≡ ↑♠± ∂± ←°″≡ ↑♠±↔∂″≡
″°±∂↔°↑∂±÷ ≡±÷∂±≡ ↔•↔ ∂← ♠←≡≈ ≠°↑ ″≡←♠↑∂±÷ ↔•≡ ≈ƒ±″∫
∂…≥≥ƒ …•±÷∂±÷ ∈⇒←〉 ⊄•≡ °↔∂±≡≈ ″≡←♠↑≡″≡±↔← …± ≡
±≥ƒ←≡≈ ±≈ ↔•≡± ≠≡≈ …× ↔° ↔•≡ ∉↔↔≡↑±∫⊄…↔∂…∫∈⇒ ↑≡↓°←∫
∂↔°↑ƒ〉 ⊄•°←≡ ″≡←♠↑≡← ↓↑≡…∂←≡≥ƒ →♠±↔∂≠ƒ ↔•≡ ∂″↓…↔← °≠ ↔•≡
…•°←≡± ⇒⇔⇔ ←°≥♠↔∂°±← °± ↔•≡ °←≡↑♥≡≈ ∈⇒← ±≈ …± ≡ ♠←≡≈
ƒ ↑…•∂↔≡…↔← ↔° ≈↓↔ ⇒⇔⇔← ……°↑≈∂±÷≥ƒ ƒ …°″↓↑∂±÷ ∂″∫

⊂° ≠↑⌠ ↔•≡ ↓↑↔ °≠ ↔•≡ ↓↓↑°…• ←•°♦± ∂± ∧∂÷♠↑≡  ↑≡≥↔≡≈
↔° ↔•≡ ∉↔↔≡↑±∫⊄…↔∂…∫∈⇒ ↑≡↓°←∂↔°↑ƒ ±≈ ↔°°≥← ≠°↑ ←♠↓↓°↑↔∫
∂±÷ ⇒⇔⇔← •← ≡≡± ∂″↓≥≡″≡±↔≡≈〉 ⊄•≡ ⇔∨ ↔↑±←≠°↑″↔∂°±
↔°°≥← ← ♦≡≥≥ ← ↔•≡ ↔°°≥ ≠°↑ ↑♠±∫↔∂″≡ ″°±∂↔°↑∂±÷ ±≡≡≈ ↔° ≡
∂±↔≡÷↑↔≡≈〉

⊄•≡ ↓↓↑°…•≡← ↓↑≡←≡±↔≡≈ ∂± ↔•≡ ↓↑≡♥∂°♠← ↔♦° ←≡…↔∂°±←
↑≡ ÷≡±≡↑≥ ≡±°♠÷• ±≈ …± ∂± ↓↑∂±…∂↓≥≡ ≡ ↓↓≥∂…≥≡ ≠°↑
°↔•≡↑ ↔ƒ↓≡← °≠ ←ƒ←↔≡″← °↑ ≡…°←ƒ←↔≡″← ≡←∂≈≡ ↔•°←≡ ↔•↔ ↑≡
←≡↑♥∂…≡∫←≡≈〉 ⋅°♦≡♥≡↑⌠ ↔•≡ ↓↓↑°…•≡← ±≈ ↔°°≥← …°±←∂≈≡↑≡≈

↑≡≥↔≡≈ ↔° ↔•≡ ←≡↑♥∂…≡∫←≡≈ ←ƒ←↔≡″←〉 ⇒≈≈∂↔∂°±≥ ∂±♥≡←↔∂÷∫
↔∂°±← ↑≡ ±≡…≡←←↑ƒ ↔° ≡↔↔≡↑ ≡♣↓≥∂± •°♦ ↔•≡ ↓↓↑°…• …±
≡ …°±…↑≡↔≡≥ƒ ↓↓≥∂≡≈ ≠°↑ °↔•≡↑ ↔ƒ↓≡← °≠ ←ƒ←↔≡″←〉

√± ↔•∂← ←≡…↔∂°±⌠ ♦≡ ↓↑°♥∂≈≡ ± ≡♣″↓≥≡ °≠  ↑≡♠←≥≡ ↑…•∂∫
↔≡…↔♠↑≥ ≈≡…∂←∂°± ″°≈≡≥ ≠°↑ ≈↔ ↓↑°…≡←←∂±÷〉 ⊄•≡ ≡♣″↓≥≡ ∂←
←•°♦± ∂± ∧∂÷♠↑≡ 〉 ⇒← ≡♣↓≥∂±≡≈ ∂± ⊂≡…↔∂°± ⌠ ≠°↑ ≡…• ←°≥♠∫
↔∂°± ↑≡↓↑≡←≡±↔≡≈ ƒ ↔•≡ ≈≡←∂÷± °↑ ↑…•∂↔≡…↔♠↑≥ ÷♠∂≈±…≡⌠ 
←≡↔ °≠ ↔…↔∂…← ♦∂↔• ↑≡÷↑≈ ↔° ↔•≡ …°±←∂≈≡↑≡≈ ∈⇒← ∂← ≈≈≡≈〉 √±
°♠↑ ≡♣″↓≥≡⌠ ♦≡ ↓↑°♥∂≈≡ °±≥ƒ ↔•↑≡≡ ↔…↔∂…← ≡…♠←≡ °≠ ←↓…≡
≥∂″∂↔↔∂°±←∑ ⇒♠↔•°↑∂∞↔∂°± ⊂≡…♠↑∂↔ƒ⌠ ∉∂±÷∫∨…•° ⇒♥∂≥∂≥∫
∂↔ƒ⌠ ±≈ √±↔↑°≈♠…≡ ⇐°±…♠↑↑≡±…ƒ ∉≡↑≠°↑″±…≡〉 ⇒≠↔≡↑ ≡…•

÷↑↔≡ ↔•≡″ ∂± ↔•≡ ÷∂♥≡± ←°≥♠↔∂°± ←≡≈ °± ↔•≡ ←…≥≡ ↓↑°♥∂≈≡≈
∂± ⊂≡…↔∂°±  ±≈ ↔•≡∂↑ ∂″↓…↔← °± ↔•≡ …°±←∂≈≡↑≡≈ ∈⇒←〉 ⊄•≡
⇒♠↔•°↑∂∞↔∂°± ±≈ ∉∂±÷∫∨…•° ↔…↔∂…← ÷≡±≡↑≥≥ƒ ↑≡→♠∂↑≡  ←∂±∫
÷≥≡ …≡±↔↑≥ …°″↓°±≡±↔ ♦•≡↑≡ °↔•≡↑ …°″↓°±≡±↔← ±≡≡≈ ↔° ≡
↓↓↑°↓↑∂↔≡≥ƒ ≈↓↔≡≈⌠ ↔•≡↑≡≠°↑≡ ↔•≡ƒ •♥≡ ↔•≡ ∠⇔√∧∅ 
⇒⇔⇔∫∠⊇⊄ ∂″↓…↔ ⊗ℜ〉 ⊄•≡ √±↔↑°≈♠…≡ ⇐°±…♠↑↑≡±…ƒ ↔…↔∂…

∂± ≡…• …°″↓°±≡±↔ ≠°↑ ≥∂±≡↑ ↓↑°…≡←←∂±÷ °≠ ≈≡↓≡±≈≡±↔ ↓↑°∫

…±±°↔ ≡ ∂″↓≥≡″≡±↔≡≈ ≠°↑ ≥≥ ←°≥♠↔∂°±←⌠ ♦•∂…• ≈≡↓≡±≈← °±

♦∂↔•°♠↔ …°±←∂≈≡↑∂±÷ ↔•≡ °↑≈≡↑ °≠ ↔…↔∂…← ∂±↔≡÷↑↔∂°±〉 ∧°↑
≡♣″↓≥≡⌠ ♦•≡± ↔•≡ ⇒♠↔•°↑∂←↔∂°± ↔…↔∂… ∂← ≥↑≡≈ƒ ∂″↓≥≡∫
″≡±↔≡≈⌠ ↔•≡ ∉∂±÷∫∨…•° ↔…↔∂… …± ≡ ≈≈≡≈ ♠←∂±÷ ↔•≡ ←″≡
…≡±↔↑≥ …°″↓°±≡±↔〉

∪∂↔• ↑≡÷↑≈ ↔° ↔•≡ ↓↓↑°…• ≈≡←…↑∂≡≈ ∂± ⊂≡…↔∂°± ⌠ ≡…•
←°≥♠↔∂°± ∂± ↔•≡ ≡♣″↓≥≡ ♦°♠≥≈ ±≡≡≈ ↔° ≡ ≠♠↑↔•≡↑ ↔↑±←∫
≠°↑″≡≈ ↔° ↔•≡ …°↑↑≡←↓°±≈∂±÷ ↑…•∂↔≡…↔♠↑≡ ♥∂≡♦ ♠←∂±÷ ↔•≡
÷∂♥≡± ⇔∨ ↔°°≥←〉 ∧°↑ ≡♣″↓≥≡⌠ ± ↑…•∂↔≡…↔♠↑≥ …°″↓°±≡±↔
″°≈≡≥ ≠°↑ ↔•≡ ←°≥♠↔∂°± ♦∂↔• ∉∂↓≡← ±≈ ∧∂≥↔≡↑← ±≈ ∉∂±÷∫∨…•°

…≡±↔↑≥ …°″↓°±≡±↔ ≠°↑ ←♠↓↓°↑↔∂±÷ ∉∂±÷∫∨…•°〉 ⇒↑…•∂↔≡…↔♠↑≥
♥∂≡♦← ♦°♠≥≈ ≡ ↔•≡± ≠♠↑↔•≡↑ ↓↑°…≡←←≡≈ ← ≡♣↓≥∂±≡≈ ∂± ⊂≡…∫
↔∂°± 〉

√± ↔•∂← ↓↓≡↑⌠ ♦≡ ↓↑°↓°←≡ ± ↓↓↑°…• ≠°↑ →♠≥∂↔ƒ∫≈↑∂♥≡±
↑…•∂↔≡…↔♠↑≥ ≈≡…∂←∂°± ″×∂±÷ ±≈ ≈°…♠″≡±↔∂±÷⌠ ƒ ∂±↔≡∫



Context: A data processing task or set of data processing tasks
Considered QAs: Development Effort (DE), Performance (P), Flexibility (F), Availability (A), Security (S)
ADD1: Are multiple different processing steps needed to process the data?

Yes -> ADD2
No -> Single Data Processing Component
[DE +, P -, F -, A - (single point of failure), S -]

o MODIFY + ADD-OUT: Authorization [DE -, P -, S +, A -]
o MODIFY + ADD-OUT: Ping-Echo [DE -, P -, S -, A + (Ping-Echo), A - (single point of failure)]

ADD2: How the different data processing steps are interconnected?
They need to be flexibly composed for different data processing tasks ->

Pipes and Filters [DE -, F +, A +, P -, S -]
o IMPLEMENTED-IN: Introduce Concurrency [P +, DE -]
o MODIFY + ADD-OUT: Authorization [DE -, P -, S +, A -]
o MODIFY + ADD-OUT: Ping-Echo [DE -, P -, S -, A + (Ping-Echo), A - (single point of failure)]

They follow mostly a fixed linear order -> ADD3
ADD3: Are the data processing components independent programs?

Yes -> Use Batch Sequential [P -, F -, DE -, A -, S -]
o Is it possible to modify the independent programs?

YES
MODIFY + ADD-OUT: Authorization [DE -, P -, S +, A -]
MODIFY + ADD-OUT: Ping-Echo [DE -, P -, S -, A + (Ping-Echo),
A - (single point of failure)]

NO
No -> Use programming logic to interconnect multiple processing components [DE -, P -, F -, A -, S -]

o MODIFY: Introduce Concurrency [P +, DE -, A -, S -]
o MODIFY + ADD-OUT: Authorization [DE -, P -, S +, A -]
o MODIFY + ADD-OUT: Ping-Echo [DE -, P -, S -, A + (Ping-Echo), A - (single point of failure)]

∧∂÷♠↑≡ ∑ ⇒± √±←↔±…≡ °≠  ⊆≡♠←≥≡ ⇒↑…•∂↔≡…↔♠↑≥
⇔≡…∂←∂°± ≡↔∫°≈≡≥ ≠↑°″ ∧∂÷♠↑≡ 

÷↑↔∂±÷ ↔…↔∂…← ♦∂↔• ↑≡♠←≥≡ ⇒⇔⇔← ↔°÷≡↔•≡↑ ♦∂↔• ↔•≡∂↑ ∂″∫
↓…↔← ≠↑°″ °↔• ↔…↔∂…← ±≈ ⇒⇔⇔← °± ↔•≡ ←ƒ←↔≡″ ∈⇒←〉 ⇒
±≡♦ ″≡↔∫″°≈≡≥ ≈≡←…↑∂∂±÷ ↔•≡ ↑≡≥↔∂°±←•∂↓← ″°±÷ ↑≡♠←≥≡
⇒⇔⇔← ″°≈≡≥≥≡≈ ← ∈♠≡←↔∂°±←⌠ ∠↓↔∂°±←⌠ ±≈ ⇐↑∂↔≡↑∂⌠ ≡←∫
↔≥∂←•≡≈ ⇒ ≡〉÷〉 ≡♣∂←↔∂±÷ ←°≠↔♦↑≡ ↓↔↔≡↑±← ↔•↔ …↓↔♠↑≡←
↔•≡ ⇒⇔⇔ ←°≥♠↔∂°±←⌠ ↔…↔∂…←⌠ ±≈ ∈⇒← ∂← ↓↑≡←≡±↔≡≈〉 √± ≈∫
≈∂↔∂°±⌠ ♦≡ ↓↑°↓°←≡ ± ↓↓↑°…• ≠°↑ ←♠↓↓°↑↔∂±÷ ♠↔°″↔≡≈
←ƒ←↔≡″ ≡♥°≥♠↔∂°± ←≡≈ °± …°±↔↑°≥≥≡≈ ±≈ ≈↓↔≥≡ →♠≥∂↔ƒ∫
≈↑∂♥≡± ≈≡…∂←∂°± ″×∂±÷ ♠←∂±÷ ↑≡≥ ≈↔ °↔∂±≡≈ ≈♠↑∂±÷ ←ƒ←∫
↔≡″ ″°±∂↔°↑∂±÷〉 ⊄•≡ ↓↓↑°…• ∂← ←≡≈ °± ↔•≡ ∂±↔≡÷↑↔∂°±
°≠ ↔•≡ ÷∂♥≡± ↓↓↑°…• ↔•↔ ♠←≡← ↔…↔∂…← ♦∂↔• ≡♣∂←↔∂±÷ ″°≈≡≥∫
≈↑∂♥≡± ≈≡♥≡≥°↓″≡±↔ ↓↑≈∂÷″ ±≈ ↔•≡ …°↑↑≡←↓°±≈∂±÷ ↔°°≥←〉
√± °♠↑ ≠♠↔♠↑≡ ♦°↑× ♦≡ ↓≥± ↔° ≠♠≥≥ƒ ∂″↓≥≡″≡±↔ ↔•≡ ÷∂♥≡±
↓↓↑°…•≡← ±≈ ↔≡←↔ ↔•≡″ ∂± ↔•≡ …°±↔≡♣↔ °≠  ↑≡≥ ←°≠↔♦↑≡
≡…°←ƒ←↔≡″〉

⊗ℜ 〉 ⇑←←⌠ ∉〉 ⇐≥≡″≡±↔←⌠ ±≈ ⊆〉 ∞″±〉 ⊂°≠↔♦↑≡
⇒↑…•∂↔≡…↔♠↑≡ ∂± ∉↑…↔∂…≡〉 ⇒≈≈∂←°±∫∪≡←≥≡ƒ °±÷″±
∉♠≥∂←•∂±÷ ⇐°〉⌠ √±…〉⌠ ⇑°←↔°±⌠ ⇒⌠ ⊇⊂⇒⌠  ≡≈∂↔∂°±⌠
〉

⊗ℜ 〉 ⇑←←⌠ ∉〉 ⇐≥≡″≡±↔←⌠ ±≈ ⊆〉 ∞″±〉 ⊂°≠↔♦↑≡
⇒↑…•∂↔≡…↔♠↑≡ ∂± ∉↑…↔∂…≡〉 ⇒≈≈∂←°±∫∪≡←≥≡ƒ ∉↑°≠≡←←∂°±≥⌠
〉

⊗ℜ 〉 ∏〉 ⇑←←⌠ 〉 ≥≡∂±⌠ ±≈ ∧〉 ⇑…•″±±〉 ∈♠≥∂↔ƒ
⇒↔↔↑∂♠↔≡ ⇔≡←∂÷± ∉↑∂″∂↔∂♥≡← ±≈ ↔•≡ ⇒↔↔↑∂♠↔≡ ⇔↑∂♥≡±
⇔≡←∂÷± ≡↔•°≈〉 √± ⊆≡♥∂←≡≈ ∉↓≡↑← ≠↑°″ ↔•≡ ↔• √±↔≥
∪°↑×←•°↓ °± ⊂°≠↔♦↑≡ ∉↑°≈♠…↔∫∧″∂≥ƒ ∨±÷∂±≡≡↑∂±÷⌠
∉∧∨⌠ ↓÷≡← ⁄⌠ °±≈°±⌠ ⊇⌠ 〉
⊂↓↑∂±÷≡↑∫⊃≡↑≥÷〉

⊗ℜ ⇐〉 ⇑≡…×≡↑⌠ ⋅〉 ♠≥°♥∂↔←⌠ 〉 ↑♣±≡↑⌠ ⊆〉 ¬°↔↔↑≈∂⌠ ±≈
⇒〉 ⊆♠≡↑〉 ⇒± ∨♣↔≡±←∂≥≡ °±∂↔°↑∂±÷ ∧↑″≡♦°↑× ≠°↑
≡←♠↑∂±÷ ±≈ ∨♥≥♠↔∂±÷ ⊄°°≥ ∉≡↑≠°↑″±…≡ ∂± 
⊂≡↑♥∂…≡∫∠↑∂≡±↔≡≈ ⇒↑…•∂↔≡…↔♠↑≡⌠ ↓÷≡← ⁄〉 ⊂↓↑∂±÷≡↑
⇑≡↑≥∂± ⋅≡∂≈≡≥≡↑÷⌠ ⇑≡↑≥∂±⌠ ⋅≡∂≈≡≥≡↑÷⌠ 〉

⊗ℜ ∧〉 ⇑♠←…•″±±⌠ ⊆〉 ≡♠±∂≡↑⌠ ⋅〉 ⊆°•±≡↑↔⌠
∉〉 ⊂°″″≡↑≥≈⌠ ±≈ 〉 ⊂↔≥〉 ∉↔↔≡↑±∫∠↑∂≡±↔≡≈ ⊂°≠↔♦↑≡
⇒↑…•∂↔≡…↔♠↑≡ ⊃°≥♠″≡ ∑ ⇒ ⊂ƒ←↔≡″ °≠ ∉↔↔≡↑±←⌠
♥°≥♠″≡ 〉 ∏°•± ∪∂≥≡ƒ  ⊂°±←⌠ 〉

⊗ℜ ⊆〉 ∧↑≡±•°↑←↔⌠ ⊆〉 √∞×←⌠ ∉〉 ÷°⌠ ±≈ ⋅〉 ⊃± ⊃≥∂≡↔〉 ⇒
∏♠←↔∫√±∫⊄∂″≡ ⇒↑…•∂↔≡…↔♠↑≥ ±°♦≥≡≈÷≡ ⊂•↑∂±÷ ∉°↑↔≥〉
√± ⊂≡♥≡±↔• ∪°↑×∂±÷ √∨∨∨ñ√∧√∉ ⇐°±≠〉 °± ⊂°≠↔♦↑≡
⇒↑…•∂↔≡…↔♠↑≡ ∪√⇐⊂⇒⌠ ↓÷≡← ⁄⌠ ∧≡ 〉

⊗ℜ ∇〉 ⇑〉 ⋅↑↑∂←°± ±≈ ∉〉 ⇒♥÷≡↑∂°♠〉 ⋅°♦ ≈° ↑…•∂↔≡…↔♠↑≡
↓↔↔≡↑±← ±≈ ↔…↔∂…← ∂±↔≡↑…↔◊  ″°≈≡≥ ±≈

±±°↔↔∂°±〉 ∏°♠↑±≥ °≠ ⊂ƒ←↔≡″← ±≈ ⊂°≠↔♦↑≡⌠
∑ ⁄ ⌠ 〉

⊗ℜ ∇〉 ⇑〉 ⋅↑↑∂←°± ±≈ ∉〉 ⇒♥÷≡↑∂°♠〉 √″↓≥≡″≡±↔∂±÷
⊆≡≥∂∂≥∂↔ƒ∑ ⊄•≡ √±↔≡↑…↔∂°± °≠ ⊆≡→♠∂↑≡″≡±↔←⌠ ⊄…↔∂…←
±≈ ⇒↑…•∂↔≡…↔♠↑≡ ∉↔↔≡↑±←⌠ ↓÷≡← ⁄〉 ⊂↓↑∂±÷≡↑
⇑≡↑≥∂± ⋅≡∂≈≡≥≡↑÷⌠ ⇑≡↑≥∂±⌠ ⋅≡∂≈≡≥≡↑÷⌠ 〉

⊗ℜ ∇〉 ⇑〉 ⋅↑↑∂←°±⌠ ∉〉 ⇒♥÷≡↑∂°♠⌠ ±≈ ⊇〉 ⊕≈♠±〉 ⊇←∂±÷
∉↔↔≡↑±← ↔° ⇐↓↔♠↑≡ ⇒↑…•∂↔≡…↔♠↑≥ ⇔≡…∂←∂°±←〉 √∨∨∨
⊂°≠↔♦↑≡⌠ ∑⁄⌠ 〉

⊗ℜ ⇒〉 ∏±←≡± ±≈ ∏〉 ⇑°←…•〉 ⊂°≠↔♦↑≡ ↑…•∂↔≡…↔♠↑≡ ←  ←≡↔
°≠ ↑…•∂↔≡…↔♠↑≥ ≈≡←∂÷± ≈≡…∂←∂°±←〉 √± ∉↑°…≡≡≈∂±÷← °≠ ↔•≡
↔• ∪°↑×∂±÷ √∨∨∨ñ√∧√∉ ⇐°±≠≡↑≡±…≡ °± ⊂°≠↔♦↑≡
⇒↑…•∂↔≡…↔♠↑≡⌠ ∪√⇐⊂⇒ ⌠ ↓÷≡← ⁄⌠ ∪←•∂±÷↔°±⌠
⇔⇐⌠ ⊇⊂⇒⌠ 〉 √∨∨∨ ⇐°″↓♠↔≡↑ ⊂°…∂≡↔ƒ〉

⊗ℜ ⊆〉 ∞″±⌠ ∏〉 ⇒←♠±≈∂⌠ ±≈ 〉 ≥≡∂±〉 ∈♠±↔∂≠ƒ∂±÷ ↔•≡
↑≈

√±↔≥ ⇐°±≠〉 °± ⊂°≠↔♦↑≡ ∨±÷∂±≡≡↑∂±÷ √⇐⊂∨⌠ ↓÷≡←
⁄⌠ 〉

⊗ℜ ∉〉 ↑°≥≥ ±≈ ∉〉 ↑♠…•↔≡±〉
∉↑°…≡←← ≈≡ ∨←ƒ∑ ⇒ ∉↑…↔∂↔∂°±≡↑← ¬♠∂≈≡ ↔° ↔•≡
⊆⊇∉〉 ⇒≈≈∂←°±∫∪≡←≥≡ƒ °±÷″± ∉♠≥∂←•∂±÷ ⇐°〉⌠ √±…〉⌠
⇑°←↔°±⌠ ⇒⌠ ⊇⊂⇒⌠ 〉

⊗ℜ ∇〉 ∂″⌠ ⊄〉 ≡≡⌠ ±≈ ⊂〉 ∉↑×〉 ⇒ …°″↓↑↔∂♥≡ ±≥ƒ←∂←
°≠ ≡±↔≡↑↓↑∂←≡ ↑…•∂↔≡…↔♠↑≡ ≠↑″≡♦°↑×← ←≡≈ °± ∨⇒
→♠≥∂↔ƒ ↔↔↑∂♠↔≡←〉 √± ↔• ⇒⇐√⊂ √±↔≡↑±↔∂°±≥

√±↔≡≥≥∂÷≡±…≡←⌠ ∇≡↔♦°↑×∂±÷ ±≈ ∉↑≥≥≡≥ñ⇔∂←↔↑∂♠↔≡≈
⇐°″↓♠↔∂±÷⌠ ⊂∇∉⇔ ⌠ ∂± …°±∝♠±…↔∂°± ♦∂↔• ↑≈
√±↔≡↑±↔∂°±≥ ∪°↑×←•°↓ °± ≡∫⇒…↔∂♥∂↔ƒ⌠ √∪∨⇒ ⌠
←↔ √±↔≡↑±↔∂°±≥ ∪°↑×←•°↓ °± ∨±↔≡↑↓↑∂←≡ ⇒↑…•∂↔≡…↔♠↑≡
⇐•≥≥≡±÷≡← ±≈ ⊆≡←↓°±←≡←⌠ ∪∨⇒⇐⊆ ⌠ ⇐↔•°≥∂…
⊇±∂♥≡↑←∂↔ƒ °≠ ⇔≡÷♠⌠ ⇔≡÷♠⌠ °↑≡⌠ ∫ ƒ ⌠
↓÷≡← ⁄⌠ 〉

⊗ℜ √〉 ƒ↔↑⌠ ¬〉 ∨±÷≡≥↑≡…•↔⌠ ⇔〉 ⊂…•≥≥⌠ ±≈ ⊇〉 ⊕≈♠±〉
⊆≡♠←≥≡ ↑…•∂↔≡…↔♠↑≥ ≈≡…∂←∂°± ″°≈≡≥← ≠°↑
→♠≥∂↔ƒ∫≈↑∂♥≡± ≈≡…∂←∂°± ←♠↓↓°↑↔∑ ⇒ …←≡ ←↔♠≈ƒ ≠↑°″ 
←″↑↔ …∂↔∂≡← ←°≠↔♦↑≡ ≡…°←ƒ←↔≡″〉 √± ∉↑°…≡≡≈∂±÷← °≠ ↔•≡
⊄•∂↑≈ √±↔≡↑±↔∂°±≥ ∪°↑×←•°↓ °± ⊂°≠↔♦↑≡
∨±÷∂±≡≡↑∂±÷ ≠°↑ ⊂ƒ←↔≡″←∫°≠∫⊂ƒ←↔≡″←⌠ ⊂∨⊂°⊂ ⌠ ↓÷≡←
⁄⌠ ∉∂←…↔♦ƒ⌠ ∇∏⌠ ⊇⊂⇒⌠ 〉 √∨∨∨ ∉↑≡←←〉

⊗ℜ √〉 ƒ↔↑⌠ ⋅〉 ⊄↑±⌠ ±≈ ⊇〉 ⊕≈♠±〉 ⇐°±←↔↑∂±↔∫←≡≈
…°±←∂←↔≡±…ƒ …•≡…×∂±÷ ≡↔♦≡≡± ≈≡←∂÷± ≈≡…∂←∂°±← ±≈
…°″↓°±≡±↔ ″°≈≡≥← ≠°↑ ←♠↓↓°↑↔∂±÷ ←°≠↔♦↑≡
↑…•∂↔≡…↔♠↑≡ ≡♥°≥♠↔∂°±〉 √± ↔• ∨♠↑°↓≡± ⇐°±≠≡↑≡±…≡
°± ⊂°≠↔♦↑≡ ∂±↔≡±±…≡ ±≈ ⊆≡≡±÷∂±≡≡↑∂±÷ ⇐⊂⊆⌠
↓÷≡← ⁄⌠ ⊂∞≡÷≡≈⌠ ⋅♠±÷↑ƒ⌠ ↑…• 〉 √∨∨∨
⇐°″↓♠↔≡↑ ⊂°…∂≡↔ƒ〉

⊗ℜ ⇒〉 …≡±⌠ ⊆〉 ∅°♠±÷⌠ ⊃〉 ⇑≡≥≥°↔↔∂⌠ ±≈ ⊄〉 °↑±〉
∈♠≡←↔∂°±←⌠ ∠↓↔∂°±←⌠ ±≈ ⇐↑∂↔≡↑∂∑ ∨≥≡″≡±↔← °≠ ⇔≡←∂÷±
⊂↓…≡ ⇒±≥ƒ←∂←〉 ⋅♠″±∫⇐°″↓♠↔≡↑ √±↔≡↑…↔∂°±⌠
∑⁄⌠ 〉

⊗ℜ ⊂〉 ⊂↔≡♥±≡↔∂…⌠ 〉 ∉≥×∂≈←⌠ ⊄〉 ⇑〉 √°±≡←…♠⌠ ∧〉 ∂⌠
⇔〉 ⊂…•≥≥⌠ ±≈ ⊇〉 ⊕≈♠±〉 ⊄°°≥ ←♠↓↓°↑↔ ≠°↑ ↔•≡
↑…•∂↔≡…↔♠↑≥ ≈≡←∂÷± ≈≡…∂←∂°±← ∂± ←°≠↔♦↑≡ ≡…°←ƒ←↔≡″←〉
√± ∉↑°…≡≡≈∂±÷← °≠ ↔•≡  ∨♠↑°↓≡± ⇐°±≠≡↑≡±…≡ °±
⊂°≠↔♦↑≡ ⇒↑…•∂↔≡…↔♠↑≡ ∪°↑×←•°↓←⌠ ∨⇐⊂⇒∪ ⌠ ↓÷≡←
∑⁄∑⌠ ∇≡♦ ∅°↑×⌠ ∇∅⌠ ⊇⊂⇒⌠ 〉 ⇒⇐〉

⊗ℜ ⋅〉 ⊄↑±⌠ ⊇〉 ⊕≈♠±⌠ ±≈ ⊂〉 ⇔♠←↔≈↑〉 ⊃∂≡♦∫←≡≈ ±≈
″°≈≡≥∫≈↑∂♥≡± ↓↓↑°…• ≠°↑ ↑≡≈♠…∂±÷ ↔•≡ ≈≡♥≡≥°↓″≡±↔
…°″↓≥≡♣∂↔ƒ ∂± ↓↑°…≡←←∫≈↑∂♥≡± ←°〉 √± ∉↑°…≡≡≈∂±÷← °≠
√±↔≡↑±↔∂°±≥ ⇐°±≠≡↑≡±…≡ °± ⇑♠←∂±≡←← ∉↑°…≡←←≡← ±≈
⊂≡↑♥∂…≡← ⇐°″↓♠↔∂±÷⌠ ≡∂↓∞∂÷⌠ ¬≡↑″±ƒ⌠ ⊂≡↓↔≡″≡↑
〉

⊗ℜ ∏〉 ⊕•≡±÷ ±≈ 〉 ∨〉 ⋅↑↓≡↑〉 ⇐°±…♠↑↑≡±…ƒ ≈≡←∂÷±
↓↔↔≡↑±←⌠ ←°≠↔♦↑≡ →♠≥∂↔ƒ ↔↔↑∂♠↔≡← ±≈ ↔•≡∂↑ ↔…↔∂…←〉
√± ∉↑°…≡≡≈∂±÷← °≠ ↔•≡ ↑≈ √±↔≡↑±↔∂°±≥ ∪°↑×←•°↓ °±
♠≥↔∂…°↑≡ ⊂°≠↔♦↑≡ ∨±÷∂±≡≡↑∂±÷⌠ √∪⊂∨ ⌠ ↓÷≡←
⁄⌠ ∇≡♦ ∅°↑×⌠ ∇∅⌠ ⊇⊂⇒⌠ 〉 ⇒⇐〉

⊗ℜ ∠〉 ⊕∂″″≡↑″±±⌠ ⊄〉 ¬←…•♦∂±≈⌠ ∏〉 €♠←↔≡↑⌠
∧〉 ≡ƒ″±±⌠ ±≈ ∇〉 ⊂…•♠←↔≡↑〉 ⊆≡♠←≥≡ ⇒↑…•∂↔≡…↔♠↑≥
⇔≡…∂←∂°± °≈≡≥← ≠°↑ ∨±↔≡↑↓↑∂←≡ ⇒↓↓≥∂…↔∂°±
⇔≡♥≡≥°↓″≡±↔〉 √± ↑≈ √±↔≥ ⇐°±≠〉 °± ∈♠≥∂↔ƒ °≠
⊂°≠↔♦↑≡ ⇒↑…•∂↔≡…↔♠↑≡← ∈°⊂⇒⌠ ≡≈≠°↑≈⌠ ⇒⌠ ⊇⊂⇒⌠
↓÷≡← ⁄〉 ⊂↓↑∂±÷≡↑⌠ 〉


